


REARRANGEMENT OF 

SENTENCES

A sentence, or paragraph is given 

divided into a few parts which 

need to be rearranged to make a 

meaningful sentence paragraph.



How to solve Rearrangement 

of sentences?

 Understanding the theme

 Finding an independent 

sentence

 Connecting with the help of 

helping verb, prepositions, 

continuance of the theme etc.



Rearrange the parts of the 

sentence/passage in its correct order.

1.

P. Seems like a perfect holiday

Q. watching the sun sink

R. sitting on the beach and

S. into the blue sea

A.  RPQS B.  QRPS

C.  QSPR D.  RQSP

Answer: D



2.

P. That we are more civilized than 

our ancestors

Q. is the prevailing belief

R. one of the

S. great delusions of modern times

A.  RPQS

B.  QRPS

C.  QSPR

D.  RSQP

Answer: D 



3.

A newly

P. reflected on why he chose to work for his

Q. appointed division manager, trained in accounting,

R. company despite better offers and realized that

S. it was the friendly, collaborative, and ethical culture

A.  RPQS

B.  QPRS

C.  QSPR

D.  RQSP

Answer: B



4.

P. useful for the Government to utilize the 

expertise and

Q. in the present international scenario, it 

is necessary and

R. and winning over the support of their 

counterparts in other countries

S. services of Members of Parliament 

effectively for sensitizing

A.  PRSQ 

B.  QPSR 

C.  PSQR 

D.  SPRQ 



5.

A. Our amusements have little zest if we 

engage in them alone.

B. Friendship increases happiness.

C. It doubles our joys and divides our 

grief.

D. When we do well, it is delightful to 

have friends who are pleased with our 

success.

A. BCDA

B. ABDC

C. CBAD

D. DACB



6.

A. He often spread rumors that his 

neighbors were thieves.

B. After being released, one of them sued 

him for wrongly accusing them.

C. One evening, some of them were 

arrested by the police.

D. After the investigation, they were 

proven innocent.

A.  ACDB

B.  DCBA 

C.  BDCA

D.  CBAD 



7.

A.  She was a tall woman and she carried a 

large purse.

B.  Suddenly a boy tried to snatch her 

purse.

C.  It was 11 o'clock at night and a woman 

was walking alone.

D.  It had a long strap, and she carried it 

slung across her shoulder.

A. CADB

B. DCBA

C. ACDB

D. DBCA



8.

A.  Security cameras captured the whole 

incident. 

B.  Commuters in Virginia, USA got a 

shock when a deer entered a metro 

station.

C.  However, it eventually backed out and 

ran away unharmed. 

D.  Nobody knows how it made into the 

station.

A. DCBA  B. BADC

C. BDCA D. ADCB



9.

A.  It is because nowadays people have 

no time for recreation.

B.  But this pastime is getting out of 

favour now.

C.  It is really a thrilling exercise.

D.  Flying kites is my favourite pastime.

A. DCBA B. CDAB

C. DBAC D. BCDA

Answer: A



10.

A. But that is for an emotional reason.

B. Learning our mother tongue is 

important and everyone should speak it.

C. This is because proficiency in the 

language can lead to better 

opportunities.

D. Learning English, however, is 

important for practical reasons.

A.  BDCA B.  DACB

C.  BADC D.  DBAC 

Answer: C



11.

The reformer must know

P: people is the authentic

Q: that what moves

R: life, not mere writing

A.  QRP 

B.  RPQ

C.  QPR 

D.  PQR 

Answer: C



12.

Reading forces us to

P: or heard in our lives

Q: we might not have seen

R: look at words that

A.  PQR 

B.  RQP 

C.  PRQ 

D.  QRP 

Answer: C


